BBiql’

BIQU-B1

USER MANUAL

Shenzhen Bigtree TechnolbgWCo.,Ltd



Catalogue

1. PACKING LISt i 1
2. EQUIPMENT PArameters. ... . v ittt e e e e e e e 2
3. Installation equUIPMENt......cooiiiiiiiiiiecc e 3
4. Platform Calibration........ccocueeiiiiiiniiiieieestceeeeee e 17
4-1 Platform Calibration..........cocveeiieiieiieeeeceeeeee e 17
A-2 Fill in filament.....c.oooiieee e 21
5. REAAY 10 PriNt.ccc ettt e e e e e aaeeeeea 22
5-1 Introduction to working mode.........ccceevvieeriiiiniieinieciieeeiieene 22
5-2 Installing Driver SOftWare.........ccccevveriiiieenieniceceeeeeseeeeeee 23
5-3 Install Ultimaker Cura SOftware.........ccoocueeeeeieereee e 27
5-4 SOftware SEttings.......cccovveriiiiiiinienieeieeeeeee e 30
5-5 Usage of Ultimaker Cura Software........ccccoevveevciieicieeeniieeiee e, 36
6. STArt PriNtiNg....coiiiiiiiiiiiiie e 38
6-1 OFfline Printing...cc.cooieeiieiiiiieie e 38
6-2 ONNE Printing...c.ceeeoiiiiienieiieeiieeeeceeee et 40
7. Other FUNCLIONS. ..coiiiieeiie ettt e 42
7-1 ManUal |@VEING.....ccveeeiieeiie ettt 42
7-2 Automatic Leveling (Optional) .....cccceceevievieiiciecieieeeeeeeieeies 45
7-3 Intelligent filament detection Sensor Module (Optional)............ a7
7-4 MOAEI PreVIEW. ...ce ittt 49
7-5 Marlin Operating SyStemM......ccoouiiiiiiiiiieeeeee e 57
8. TroUbIESHOOTING. ... .eeeeeieeiee e ere e 59

S I 011 (o] o 1T PO 63



Bseiqu’

1. Packing List

BIQU-B1 USER MANUAL

Wrench and screw

Diagonal pliers

bag (1pcs)
(1set)
| OO
S i
BIQU-BI1 TF card and card Nozzle
(1pcs) reader (lset) (2pcs)
AR : I
Power cable Rack BLtouch stand
(1pces) (1pcs) (1pcs)
"™
u?% > —
o
Data cable Filament for test Cable tie
(1pcs) (45g) (5pcs)




2. Equipment parameters

The basic parameters

Printer Name BIQU-B1

Printing Size 235 x235x 270mm
Molding Tech FDM

Nozzle Quantity 1 PCS

Layer Thickness 0.lmm - 0.3mm
Nozzle Diameter Standard 0.4mm
Printing Accuracy +0.05mm
Filament PLA

Slicing Format STL / OBJ/ AMF

Connecting Method Via data cable / TF card / USB
Slicing Compatible With Cura / Repetier-Host / Simplify 3D
Rated Voltage 100 - 120V /200 - 240V 50/ 60 HZ
Output Voltage 24V

Rated Power 270W

Max Temp of Hot Bed 100°C

Max Temp of Nozzle 260°C

OS compatible with Win 7 / Win 10

Maxium operating speed 180mm/s

Max Printing Speed 100mm/s

Normal Printing Speed 60mm/s

Language Transform Supported

Resume Printing

With resume printing function

Filament Run Out Detection

With filament run out detection function

WWW.BIQU.EQUIPMENT

2




Beiqu®  BIQU-B1 USER MANUAL

3. Installation equipment

Step 1

Connecting the terminal wire to the socket of the hot bed.

Step 2

There are two M5 threaded holes on the end of the 2040 aluminum

profile,which is used for mounting the M5 X 16 hex socket head screws.



1.2040 aluminum profile—length 456mm (1pcs)

2. M5 X 16 hexagon round-head screws (2pcs)
3. M5 X 10 hexagon round-head screws (2pcs)
4. M4 X 8 hexagon cup-head screws (4pcs)

WWW.BIQU.EQUIPMENT 4



Beiqu®  BIQU-B1 USER MANUAL

Step 3

1
M4 threaded 2

Facing the metal sheet part

There is a M4 threaded holes on another 2040 aluminum profile.
When installation, users make the threaded hole face the metal sheet

part.

2040 aluminum profile--length 456mm (1pcs)
M5 X 16 hexagon round-head screws (2pcs)
M5 X 10 hexagon round-head screws (2pcs)

P wnN e

M4 X 8 hexagon cup-head screws (4pcs)



Machine screw

g with the plane
otor shaft

1. T8 screw (1pcs)
2. Coupling device (1pcs)
There are machine screws inside the coupling device, which is used to

tighten the motor shaft and screw rod. The set screw is aligned with the plane

of the motor shaft when installing.

Step 5

1. M3 X6 hexagon round-head screws (4pcs)

2. Hexagonal isolation column (1pcs)

WWW.BIQU.EQUIPMENT 6



Beiqu”  BIQU-B1 USER MANUAL

Step 6

4 in 1 terminal wire

ouy = ~——— FLD terminal

i .
~——— 7 terminal
*

& =\ ~—— X terminal

——— E terminal

Mother
terminal

twuv




FLD terminal

Cable tie

E terminal

Z terminal

As shown above, installing the 4 in 1 terminal wire to its

corresponding position. Then there are two key slots on the metal

sheet part. Users can use a cable tie to fix the terminal wire through

them.

Mother termina

WWW.BIQU.EQUIPMENT

8



Beiqu®  BIQU-B1 USER MANUAL

Groove approaches

aluminum profile.

1. Eccentric nut

Awareness: As the picture, please check whether the
interfaces are loose. If they are loose, please tight the eccentric nut
with wrench and make the groove of eccentric nut approach the
aluminum profile. Pulley on eccentric nut will preload aluminum

profile. The printer will be more stable by this way.

Step 7

Connecting the terminal wire on side to the motor’s port.



Step 8

1. M5x25 hexagon cup-head screws (4pcs)
2. 2020 aluminum profile—length 323mm (1pcs)

Step 9

1. Xslider sheet (1pcs)
2. Belt (1pcs)

WWW.BIQU.EQUIPMENT 10



Beiqu®  BIQU-B1 USER MANUAL

Step 10

M4x8 hexagon cup-head screws (2pcs)
M4 boat-shape nut (2pcs)
2020 aluminum profile—length 338mm (1pcs)

P wnNPR

M5x18 hexagon cup-head screws (2pcs)
The boat-shape nut may rotate during installation. Users could

use the screws to fix it on the aluminum profile.

Step 11

Installing the belt onto the 2020 aluminum profile.

11



Step 12

1. M4 boat-shape nut (2pcs)
2. M4x8 hexagon cup-head screws (2pcs)

Notice: The boat-shape nut may rotate during installation. Users
could use the screws to fix it on the aluminum profile.

When installation, in order to tighten the pulley and the belt,

users could push the parts slowly in the X direction.

WWW.BIQU.EQUIPMENT 12



Beiqu®  BIQU-B1 USER MANUAL

Step 13

1. M3x8 hexagon cup-head screws (2pcs)

Step 14

o) ° =
- &

- e
T A WA
2

7
\

1. Feed tube (1pcs)
2. Quick connector (2pcs)

13



Step 15

Step 16

1. M4x8 hexagon round-head screws (2pcs)
2. M4 boat-shape nut (2pcs)
The boat-shape nut may rotate during installation. Users could

use the screws to fix it on the aluminum profile.

WWW.BIQU.EQUIPMENT 14



Beiqu®  BIQU-B1 USER MANUAL

Step 17

12
Ll n

e
B

N

1. Type-C data cable (1pcs) 2. Cable tie (1pcs)

As shown above, there are two key slots on the metal sheet part.
Users can use a cable tie to fix the Type-C cable through them. But
before fixing the data cable, users would better leave a certain length

at the Type-C cable's end which closes to the nozzle. It facilitates the

movement of the nozzle.
Awareness:
1.do not unplug the Type-C data cable when the machine is on.

2.The Type-C cable is customized, it can not be replaced by others.

15



Step 18

1. M4x16 hexagon round-head screws (1pcs)
2. Zaxis limit module

Fixing the Z-axis limit module on the aluminum profile by using the
M4 threaded holes and the above screws.

Awareness: Please check all the screws and make sure that they are

properly installed.

Installation Finished !

WWW.BIQU.EQUIPMENT 16



Beiqu®  BIQU-B1 USER MANUAL

4. Platform Calibration

4-1 Platform Calibration

After the installation of BIQU B1, users need to perform a platform
calibration on BIQU B1. The steps are as follows:

Step 1

1. Power switch
2. Power cord socket

Awareness: Before turning on, please check whether the
voltage mode matches your household power supply. If not, you
can select the mode by using screwdriver.

Confirming that the wiring is steady and correct. Inserting one
end of the power cord into the power cord socket and the other
end into the household power supply, and then turn on the power
switch of the machine.

Awareness: do not unplug the Type-C data cable when the

machine is on.

17



Step 2

Ready
,' T0 2 Bed .?. FO |$¢lo Fr.
—_ v

X-0.00 Y:0.00  Z:0.00
(11 @ 1nfo é
!

Menu print

Setting  Back

Movement ® 200 E 280 Home ® 200 B 280

e 4+ o~ ral
e 2=|En aa
Y Z

Home Move ABL Leveling Home X

e 0

Clicking on the touch screen homepage(D) “Menu” — Q)
“Movement” — @) “Home” — @) “z” .

The nozzle moves back to the zero point of the Z axis, which is
above the platform. Twist the 4 hand-tight nuts counterclockwise
under the hot bed so that there is a distance of 3 ~ 6mm between
the hot bed and the nozzle.

1. Hand-screw nut (4pcs)

WWW.BIQU.EQUIPMENT

18



Beiqu’®  BIQU-B1 USER MANUAL

Step 3

® 29/0 2 28/0

Movement ® 29/0 M 28/0

'.v ?ev

— —

ABL Leveling

e

Point 1 Point 2 Point 3  Ponit 4
H '

Plane test

Select from the touch screen in the previous step (1) “Back” — (2)
“Leveling” — ) “Point1” .

When the nozzle moves to the "first point" position(as shown
below ), and user put a piece of A4 paper under the nozzle. Twisting the
hand screw nut to make the nozzle just contact with the A4 paper and
that the A4 paper can move smoothly with slight friction.

19



1. Hand-screw nut (4pcs) 3. A4 paper (1pcs)
2. Nozzle-head (1pcs) 4. Nozzle (1pcs)

When users turn the hand-screw nut clockwise, the platform
will rise, and when users turn the nut clockwise, the platform will
fall.

In the same way, touch the "second point", "third point" and
"fourth point" on the screen in turn, and use the same method to
turn the hand-screw nut under the platform to manually level the

platform.

WWW.BIQU.EQUIPMENT

20



Beiqu®  BIQU-B1 USER MANUAL

4-2 Fill in filament

o i

& =

PRI

1. Extruder handle

2. Filament
Cut a bevel on filament with Diagonal pliers, Holding the handle of the
extruder while users pushing the filament into the extruder into the feed tube.

Awareness: Please check all the screws and make sure that they are

properly installed.

Calibration Finished

21



5. Ready to print

5-1 Introduction to working mode

BIQU-B1 3D printer has two working modes, offline printing mode
and online printing mode.

Offline printing : After adjusting the platform, save the slice file
generated by the slicing software in the TF card, then insert the TF card
into the TF card slot of the base, click "Print" from the main interface, and
then select the file in the TF card to print.

Online printing : Connected the computer with the 3D printer
through a data cable, using slicing software (such as Ultimaker Cura) to
control the printer. However, printing signal transmitted through the data
line may cause unstable factors such as signal interference. Therefore, it is
recommended that the customer use offline printing if possible.

—[ Offline ]—[ Insert TF card to print

BIQU-B1
au s N
3D Printer install driver software
Online to connecting PC and
printer
\_ J

~

Install Cura slicing
software and control

— the printer through
Cura slicing software

on the computer

N %

WWW.BIQU.EQUIPMENT 22




Beiqu®  BIQU-B1 USER MANUAL

5-2 Installing Driver software

& pEeEE - — ~— - =]

IEF  ERMER) =SV BEH)
e ARl 7 Mo

4.4 USER-20191120UN
> g IDE ATAJATAPI 55155
o B EsEE
> 3 nEE
b RS
b Eits
413 &0 (COM 3 LPT)
7aameEd ety 1, Right clicking

7 EEEO (COML)

T @0 (com2) # " . "
| Moo 2.Selecting "Update Driver Software

oW e /

b EE. TSI
o Pl ErREEEsEE

b EESTEERE

) R
o

) B STERE

Turn on the power of the 3D printer, and connect the computer to
the 3D printer through the data cable. Right-click "This Computer" —
"Properties" — "Device Manager", and then the window will show
above. If there is a yellow exclamation mark or question mark shown in
the box, users need to manually install the driver. If not, it means that the
driver has been installed automatically, no need to perform the following
driver installation steps.

Then follow the prompts shown above to install the driver software.

23



SRR AT

> EEIEEEFRIIRAERERIES)
Windows $SEEHHEN Internet FERATEXRBMNSTRIIERNR
#, BEFT e RER s,

2 PSS ERBREEEER)
FAEI AR,

Always install this driver software

= = - = = g
|| EHFEFHERFRE - Marlin USE Device
| RS CREREE
T MIEEEEEF
C:\Users\Administrator\Desktop) hd SUEE(R)...
[V s T D /
i
| . . .
i Finding out the Storage path of Marlin
| . .
USB Device Driver.
i > AT SN EIREIESFIEEE()
tl WFIER RS E RS Camn iR E TN | LRSeasit TR 25T
l FrEEamEFmit.
|
U
i
|
£

WWW.BIQU.EQUIPMENT

24



Beiqu”  BIQU-B1 USER MANUAL

) 1 EFEESEFLE - Marlin USB Device

IEERERERE ..

7~ Y
i Windows &2 g

® windows TR SRS

> TEEIIRAFERFRIE(N)
HEEHEEN | FEAEN B NIETRL,

> METIRAREIIR FRRRH()
REREEOEENTENER T, s S e
RS ENSEIES.

@ =ssm==o0  Alwavs install this driverPofrware

If the computer contains a firewall or anti-virus software, please
manually agree to install the driver.

— =)

w | EFERAERFHE - Marlin USB Serial (COMAT)

Windows BEsIhtbEFIRARER I
Windows EEsea et B et aERes:

Marlin USBE Serial

Close

25



IR EfRA) ZBN)  EEH)
e || E HD R E &S

-2 USER-20131120UN
bt IDE ATA/ATAPI 325158
) EEEE
> [ seiEss
by MEEDE
> i i
O

Qi1 BT)

Marlin USB Serial (COM47) |
FIEDHE0 (LPTL)

7 A0 (COMY)

T RO coM2)

o8 SR

o Installed successfully. There comes

> R

o U NTEEARR arandom COM name
s EE. TS

o P SEEEEsaE

b § EESTAEEE

ol SR

oM EHiRE

N ErEEms

After successfully installation, you can see a random port named

"Marlin USB Serial (com47)". 47 is a random number. Different numbers

may appear according to different PC types. (If it is the same computer

and the same printer, the port number will remain unchanged.) This port

will be used for data communication between the printer and the

computer.

Ps: Because the user's computer environment is different, after the driver

installation is complete, if there is an exclamation mark under the "port",

it means that the installation has encountered problems. At this time,

please unload this port and then install the driver again.

WWW.BIQU.EQUIPMENT

26




Beiqu’®  BIQU-B1 USER MANUAL

5-3 Install Ultimaker Cura Software

(C/
; A “Ultimaker Cura 4. 67 ‘2%
Ulrimaker. L
il ‘I B ESAEESHRSRH “Tltinaker Cura 4.57 fI323H
. .
RS ZE, B AEMETEE REE. BRI
SRERERT BHEENRENE, MAEEEHENRN
HEL.
W K BE [T—#Hmw] 4.

w > E

Next
Double click the "Ultimaker.Cura-4.6.0-win64-beta.exe" application file,

the software installation window will show above, please follow the

below illustration to install the software.

[C
FFRTUE Y
TER% “Ultinaker Cura 4,67 28, BEREFNH.
1% [Febn] AR “ERDEC AESEHS -

GNU LESSER GENERAL PUELIC LICENSE ~
Version 3, 29 June 2007

Copyright (C) 2007 Free Software Foundation, Inc. <bttp://fsf.orz/>
Everyone 1s permitted to copy and distribute verbatim copies
of this license document, but changing it is not allowed.

This version of the GNU Lesser General Public License incorporates b

MBFETMINPAER, BF [HET O] HeRik. EZD%M\JiLE [BE@] » =&
ERESRA. BEETIA RS “Ultinaker Cura 4.6

< =% || mES @ B ()

Agree

27



EERENE
[ HEFE “Ultinaker Cura 4. 67 FIRETIFE.

.? T§'Jl§f¢9§ BRER AR R, BE (K

| BExix
‘C:\Program Files4Oltimaker Cura 4.6 ‘ A E). ..
P& 577. 208 Browse

FIAT(E: 248 03B

< t—#®| T-smw > B9 ()

Next

Select the location of the file installed.

P CTHARR” Xk
| BiF CHRRRY itk, ATERRNREAT.

HIE CHRFE” bk, AERIRERNREAT . ROALAEARTE, BIRETTE.

Ultimaker Cura

Accessories ~
Adninistrative Too

AutoCAD 2014 — \Ejﬁmi (Simplified Chinese)

Autodesk

Autodesk Meldflew Communicator 2018

Autodesk Moldflow Insight 2018

Autodesk ReCap

CiDdoctor for Autedesk Simulation 2018

Java

Java Development Eit

KeyShot 6 64 b

O TZ el A 7 o)
< J:—&('P)l‘IT—ﬁtﬂ) > | R (C

Next

WWW.BIQU.EQUIPMENT 28



Beiqu”  BIQU-B1 USER MANUAL

3 vltimaker Cura 4.6 22 — e

At
PR RIAERE “Ultinaker Cura 467 MG .

;@ﬁifﬁﬁ%?ﬁﬁﬂ%ﬁﬁ, HBR R RTAERENET. BF [F5 0] HhzEi
2o

BEESAR A : Ultimaker Cura ~
[¥] irduino Drivers

[“]Install ¥isual Studie 2015 Redistributable
[JCpen 3MF files with Cura

[JOpen &MF files with Cura

[JOpen CTH files with Cura

[JOpen DAE files with Cura

\ [10pen GLE files with Cura

FiRZEE: 577. 218 [Copen g1TF files with Cura

[Mimen NRT files with Mimra

Hullsoft Install System w2. 5l

[(t—s@| =20 ||| BEO

Install

IEAE5E K “Ultimaker Cura 4. 67 ‘&3]

5

“Ultinaker Cura 4. 6”7 BREEMIART.
BE [R=pm] XALES.

[F1iET Ultinaker Cura 4.6(R)

¢ 2@ Bl )

Finish
Ultimaker Cura Installation Completed!

29



5-4 Software Settings

After the installation, if users open the software for the first
time, please set the software according to the following steps.

Welcome to Ultimaker Cura

8]

Please follow these steps (o set up
Ultimaker Cura. This will only take a few moments.

User Agreement

Disclaimer by Ultimaker
Please read this disclaimer carefully.

Except when otherwise stated in writing, Ultimaker provides any
Uttimaker software or third party software "As is” without
warranty of any kind. The entire risk as to the quality and
performance of Ultimaker software is with you

Unless required by applicable law o agreed to in writing, in na
event will Uitimaker be ilable to you for damages, including any
general, special, incidental, or consequential damages arising out
of the use or inability to use any Uitimaker software or third party
software.

Decline and close

WWW.BIQU.EQUIPMENT 30



Beiqu”  BIQU-B1 USER MANUAL

What's new in Ultimaker Cura

4.6.0

THANK YOU to all Utimaker Cura users helping in the fight
‘against COVID-19 - with 3D printing. volunteering, or just by
staying home, Want to getinvolved? Find out mere at hitps://
ultimaker.comin/curafcavid-19

New Intent profiles.

In version 4.4 we introduced Intent profiles for the Ukimaker 53
‘and Uttimaker 55 which allow you to start prints at the click of a
buttan withaut a kot of canfiguration steps. Due ta popular
demand, version 4.6 expands the range of Engineering Intent
profiles to include more of the Utimaker material partfolia: PC,
Nylon, CPE, and CPE+, These work with 0.4 prin cores.

Show active post processing scripts.
flaleifviaw has rntribitort an aase nf 15 imnruemant inthe

Help us to improve Ultimaker Cura

Utimaker Cura callects anonymeous data to Imprave print quality
and user experience, including:

Matesalussge

ve
3

ermzertngs

||.'||]

Data collected by Ultimaker Cura will not contain any personal
information. Mare information

Add a printer

Add a networked printer
There i no printer found orer your metvork.

Refresh  Add printer by IP

I Add a non-networked printes

31



>

Add a printer

Add a networked printer

Add a non-networked printer

Ultimaker B.V.

¥ Custom

@ Custom FFF printer

>
>
>
>
>
>
>

101Hero

3Dator GmbH
3DMaker

3DTech

ABAX 3d Technologies
Alfawise

Anet

Printer name  Custom FFF printer

Machine Settings

Custom FFF printer

.

Gl #15.0 F6000 ;Move the } M140 S0

Printer Settings Printhead Settings
X (Width) 235 |mm| Xmin -20
¥ (Depth) & 235 |mm| ¥min -10
Z(Height) 270 Imm| X max 10
Build plate shape Recta... v | Ymax 10
Origin at center Gantry Height 270
Heated bed % Number of Extruders 1
Heated build volume Shared Heater
G-code flavor Marlin
Start G-code End G-code

G28 ;Home M104 S0

mm
mm
mm
mm

mm

WWW.BIQU.EQUIPMENT

32



Beiqu”  BIQU-B1 USER MANUAL

Machine Settings

Custom FFF printer

Printer 1 Extruder 1
.

Nozzle Settings

Nozzle size mm

Compatible material dlamete2 i mm

Nozzle offset X mm

Nozzle offset ¥ 0 mm

Cooling Fan Number o

Extruder Start G-code Extruder End G-code

Ultimaker Account

&

ed 3D printing

- Customize your experience with more print profiles and plugins
- Stay flexible by syncing your setup and loading it anywhere

~Increase efficiency with a remote workflow on Ultimaker printers

Create an account  Sign in

33



PREPARE PREVIEW

Generic PLA

< H20% w&lioff +on ~
T | {

Ultimaker Cura 4.6.1 is available!

\-  Ultimaker Cura 46.1 provides a better and more reliable
L printing experience.

*
L]

Click “preference” — “configure cura”

|G Preference

G 1 .
1 £ Printers

Materials | Activate add 3,
Froflles =

Custom FFF printer

Update Firmware Machine Settings

Printers

Close

WWW.BIQU.EQUIPMENT 34



Beiqu”  BIQU-B1 USER MANUAL

General s

1 setuines | Printers

| | Materials hetivate Add K Rename
Profiles

Custom FFF printer

Update Firmware | Machine Settings

G Rename

Please provide a nev nane.

L]
2.
Cancel || 84 ||

BIQU-B1

.

Software Setup Completed!

35



5-5 Usage of Ultimaker Cura

Software

(c

File Edit Viev

Ultimaker Cura

ilelp

Settings Extensions Freferences

PREVIEW

PREPARE

1] GenericPLA <

BIQU-B1 <

MONITOR

= Fine-0.1mm

Ez0% o off

PREVIEW

PREPARE

MONITOR

= Draft-0.2mm 3 20% &loOff = off

" Print settings X
Material PLA ~ = profiles 0% 01 o5 02 03 04 05
Default 3
BIQU‘B1 B 1nfin (%)
{ &L Support
{ |
‘ : 0.2
y + Adhesion
— | { &
20 == |
; 218
£ ! L Scaling Object x
ST

Select the printer model that users has previously set and select the slice

parameters.

WWW.BIQU.EQUIPMENT 36



Beiqu®  BIQU-B1 USER MANUAL

| C]
File Edit Viev Ssttir ,
PREPARE

Generic PLA

’

¢ = Draft-0.2mm Baon Loff = Off

BIQU-B1

Auto scaled object to 10000% of original size.

Scaling Object x
T

Ultimaker Cura
S LA = Draft-0.2mm [ 20% &l off

BIQU-B1

. N (D) 4 hours 32 minutes [ ]
=S ) ssg-73im

i Sealing Object x
Previ... Save to File

Auto scaled object to 10000% of original size
— o —

Slice Completed!

37



6. Start Printing

6-1 Offline printing

Step 1 After the slicing software finishes slicing the model, users can

start printing. First save the G-code file to the TF card after model slicing,

and then use the SD card for offline printing.

ie

Eile Edi1 Viev Settin ensions Preferences Help

Ultimaker Cura PREVIEW

- BIQU-B1 < 11 Generic FLA < = Draft-0.2mm Howm Lo +off #
P
'
¥
e =
== =] oo
: * i B
f ;-
B é =
A Objeclit ; = 1 ' - (9 4 hours 32 minutes [ ]
FRFP_E MG Wl ssg-731m
’ % L Scaling Object x i
= i Auta scaled object to 10000% of original size Previ. Save to File
! S wTU
- — o —

“ 1 > RS > EE O U

"™ a0 am- s - @ |+on 2

it
L ELE
& A360 Drive &!'J‘;&‘—
B geode
=&
b
¥ =
b Ex
.

L Windows (€

REEMN): |CFFFP 2526

sese = ~ 1
G-code File
A Objsctist ey s = (D 4 hours 32 minutes o
PR R L FS ’ . - Ml ssq-731m
L L} )

WWW.BIQU.EQUIPMENT 38



Beiqu®  BIQU-B1 USER MANUAL

Step 2

Put the G-code file from TF card in the card slot. (As shown in the figure)

Step 3

Connect the power cord, turn on the machine, and select on the touch
screen homepage D) “print” — (2) “TFTSD” , Then select the slice file
saved in the TF card. The printer nozzle and hot bed start to heat. After
warming to the target temperature, the machine will automatically reset
to zero and then start printing.

After printing is completed, the print head and hot bed will
automatically cool down. When the temperature of nozzle and hot bed

reach indoor temperature, users then can remove the model.

39



Print ® 200 M 280

Ready

QP 0 o sed (B F0 Lo Fr ' &
c/ [0/

X:0.00 Y:0.00 Z:0.00 TFT_ SD Onboard SD U Disk

mE olnfo ’
—

Menu rint N
’ B

SD:
& 'egend-SDF#Ht

CFFFP_£284/Mif.gcode

CFFFP_RMiA%%.gcode

6-2 Online Printing

Step 1

The computer is connected to the 3D printer via a data cable. Insert one
end of the data cable into the USB port (as is shown below), and the other
end into the USB port of the computer.

TF Carc ‘\_"

usB

40




Beiqu’®  BIQU-B1 USER MANUAL

Step 2

Open the slicing software. Drag the stl format model into the slicing
software window to slice the model.

E3 20% &l off + off #

andard Quality - 0.2mm

PREPARE PREVIEW

-4 legend L ;-*‘:N‘ ¢ = sandard Quality-0.2mm  E3 20% &l O =+ Off #

o L. RS (D 7 hours 33 minutes [ ]

, T Bl seg - 1857
PrintviaUss v

o
L]
y
E 4
£
g
¥
H
x

After slicing, click "Print via USB" to start online printing.

41



7. Other Functions

7-1 Manual leveling

Step 1 Choose from the touch screen homepage “Menu” — )

“Movement” — (3) “Leveling” — @ “Point1” .

= 290 & 280

Ready
. T0 | Bed '?' FO -nlo Fi: = . x

X-0.00 Y:0.00 Z:0.00 Heat/Fan | Movemeni Extrude EM. STOP

@ 1nfo
- [— 2 R 4

print T .
Gecode Custom Setting Back

Movement ® 29/0 X 28/0 Leveling ® 29/0 X 28/0

v M v v
— —_—

ABL Leveling Point 1 | Point 2 Point 3 Ponit 4

e -

Plane test

Step 2 When the nozzle moves to the "first point" position(as shown below ),

and user put a piece of A4 paper under the nozzle. Twisting the hand screw nut to
make the nozzle just contact with the A4 paper and that the A4 paper can move
smoothly with slight friction.

When users turn the hand-screw nut clockwise, the platform will rise, and when

users turn the nut clockwise, the platform will fall.

WWW.BIQU.EQUIPMENT 42



Beiqu®  BIQU-B1 USER MANUAL

In the same way, touch the "second point", "third point" and "fourth point" on
the screen in turn, and use the same method to turn the hand-screw nut under the

platform to manually level the platform.

43



Step 3 After manual leveling, you can click "Plane test" in the previous

operation interface, the printer starts printing, and the customer can
evaluate the leveling effect of the platform based on the printing effect
for the next optimization.

Leveling ® 29/0 X 28/0

k] E

Point 1 Point 2 Point 3 Ponit 4

—F
il 4

Plane test

The distance between the nozzle

/ [, |l and the platform is appropriate,
% h k. 4 and the extruded filaments stick to

the printing platform.

If the distance between the nozzle
and the platform becomes too long, it
’ ’ will cause the extruded filament

! I leaving printing platform. User should

| twist the nut slightly and clockwise to

raise the platform a little bit.

If the distance between the nozzle
and the platform becomes too close,
’ | it will cause damage to the nozzle

% 2 and printing platform. User should
I twist the nut slightly and clockwise to

low down the platform.

WWW.BIQU.EQUIPMENT 44



BeiQu®  BIQU-B1 USER MANUAL

7-2 Automatic Leveling (Optional)

This function may require customers to purchase BLtouch, and install
it on the BLtouch stand of the 3D printer.
Choose from the touch screen homepage 1) “ Menu” — (2)
“Movement” — 3 “ABL” — (@) “ABL” .

29/0 0 28/0

Ready
. TO 0 Bed '?' Fo| o Fr.
- v

X000 Y:0.00 Z:0.00

1) © info
o

Movement Extrude EM, STOP

g i e

Custom Setting Back

Movement ® 29/0 2 28/0 ® 29/0 24 28/0

¢

z offset Badystep Back

Note: If users does not install BLtouch on BIQU-B1 or does not install it

properly, the touch screen will pop up a prompt window, as shown below:
® 200 B 280

robing Failed
ABL P :

.-

Repeat z offset Badystep Back

45



The 3D printer starts to level automatically, the BLtouch probe
descends, and the nozzle head also descends. Until the probe touches the
first point of the platform, and the probe and nozzle start to rise. After
the first point, the nozzle-head would move above to the second point
and repeat this operation until all the 25 points on the platform are
tested.

After finishing the automatic leveling, user can click "Repeat" in the
previous operation interface, the printer starts printing, and the users can
evaluate the leveling effect of the platform based on the printing effect to
optimize the next step.

® 29/0 X 28/0

g

¢

Repeat | z offset Badystep Back

WWW.BIQU.EQUIPMENT 46



BeiQu®  BIQU-B1 USER MANUAL
7-3 Intelligent filament detection Sensor Module

(Optional)

If users has a higher pursuit, users can additionally purchase a smart
filament detection sensor module, and upgrade filament run out
detection module into an intelligent filament detection sensor module.

First, users remove the filament run out detection module from
BIQU-B1, and then installs the smart filament sensor module. Choosing
from the homepage of the 3D printer touch screen @ “Menu” — @

“Settings”— ®“Feature”— @“Page down”— ®*Filament sensor”.

Ready ady 290 B 280
. TO 1 Bed '?' FO  $¥lo Fr.
—— v

X:0.00 Y:0.00 Z:0.00

Heat/Fan Movement Extrude

13

Geode Custom | Setting

® 29/0 2 28/0
Feature ® 29/0
Hide Terminal ACK

Ov

Screen  Machine | Feature

Invert X Axis
Invert Y Axis
\\’) UART

Invert Z Axis
N~ Speed

" Auto Power
Disconnect 115200

Feature ® 29/0 X 28/0
Filament sensor SMART
Move speed(X Y Z) Fast
Start Gcode before print

End Gcode after print

Persistent Status Info




On the option of Filament Sensor if shows “SMART” indicating
that the intelligent filament detection function is turned on.

Supplements:

When the button of "Filament Sensor" shows "ON", owes to
filament run-out detection module, BIQU-B1 starts detecting filament run
out status.

When the button of "Filament Sensor" shows "intelligent", owes to
smart filament detection sensor module, BIQU-B1 starts detecting
filament-jam status.

When the button of "Filament Sensor" shows "OFF", BIQU-B1 would
neither detect filament run out nor filament-jam status.

Normally, BIQU-B1 defaults to open filament run-out detection

function.

ON Filament run out
(default) detection

Filament

SMART Filament-jam detection ]

Sensor

Neither filament run out nor

filament-jam detection

WWW.BIQU.EQUIPMENT 48



BeiQu®  BIQU-B1 USER MANUAL

7-4 Model Preview

When there are many 3D printed files in the TF card, it is difficult for
users to find the files they needed. The model preview function can help
users find their target files more quickly and directly.

The function will be described in detail below.

Step 1 set up the UltimakerCura. Open the UltimakerCura, and then

click "preference"” — "configurecura".

e

Filo Edit Viev Settines Extensiond Preferences]islp
Ultimaker Cura PREPARE PREVIEW MONITOR

i Custom FEF printer < Generic PLA ¢ = Ffine-0.1mm fH20% &loff Fon &

49



[c]

settings | GéNeTal
Printers

Material 5
Paofilos | Language: [English ~ | Currency: |€

Interface -

Thene: Ultinaker x
You vill need to restart the application for these changes to have effect.

Slice automatically

Viewport behavior
v Display overhang

Center camera when item is selected

Invert the direction of camera zoom.

Zoom toward mouse direction

Frnsure models are kept apart
v dutomatically drop models to the build plate
v Caution message in g-ceds reader

Force layer view compatibility mede (restart required)
v Restore window position en start
Camera rendering:

Perspective ¥

Opening and saving files
Scale largs nodels
V Scale extrenely snall models
lect nodels when loaded
| V 4dd nachine prefiz to job name |

4 »

Defaults Close

e Y e e Py e —— ]

[c]

settings | GéNeTal
Printers

Material 7
Paofilos | Language: [English ~ | Currency: |€

Interface -

Thene: Ultinaker x
You vill need to restart the application for these changes to have effect.

Slice automatically

Viewport behavior
v Display overhang

Center camera when item is selected

Invert the direction of camera zoom.

Zoom toward mouse direction

Frnsure models are kept apart
v dutomatically drop models to the build plate
v Caution message in g-ceds reader

Force layer view compatibility mede (restart required)
v Restore window position en start
Camera rendering:

Perspective ¥

Opening and saving files
Scala large nodsls
V Scale extrenely snall modsls
elect node] ben loadad
| 4dd machine prefix to job nane |

Defaults Clese
T e e ]

Uncheck the "Add machine prefix to job name"

WWW.BIQU.EQUIPMENT 50



Bseiqu’

BIQU-B1 USER MANUAL

Step 2

slice.

Eile Edit Viev Set

isions Preferences Help

Save the G-code file in the root directory of TF card after

Ultimaker Cura

PREPARE

i BIQU-B1 < Geenic LA < | P Fine#z-Fine-02mm  [F20% &Loff +off #
N
A Objectlist | L = 2 ( 4 hours 13 minutes (i ]
\- f o R ER
Ll i Scaling Object x n. ==
o wTu
— -—

¢}
File féit Tiev Sertings Extensions Prsfersnces falp
Ultimaker Cura PREPARE

) ks > R O A

‘ - T

=
B 038 s

L Windows (€) o ¢

SEREEN): |2
E453T): | G-code File (*.gcode)

WIS L

bt

~ TS

ject list ,.:_-_._.A,,L,A:,?, e EJV,‘,,”‘_,;‘
& ERLE l_._ x =

Scaling Objec

Wl s2g-21.08m

Ao scaled object 0 10000% of original size Prevl

L
L]

Note: Save the G-code file in the root directory of TF card, and name of

G-code should be same as the thumbnail’s.

51



Step 3

Open the "ModelBuildv1.1.0_x64" file and find the

"BIGTREE_Tools" application in the folder, then double-click to open it.
The following software window will pop up.

(]

B

|\ e \!\ SumEE
—

load the file

Click "Load File" to find the stl format model file that users want to

slice. Select the model file and click "Open", the software will
automatically load the model.

FY:
@

AN W e

CURE . ]

& OneDiive ] G

o |2

—

| o

) B

e Open

e[

After the model has been loaded, click "OK".

WWW.BIQU.EQUIPMENT 52



Beiqu”  BIQU-B1 USER MANUAL

Step 3 Select the appropriate model preview angle and click "Output

Thumbnail". And then select the output location where the G-code file of
the model is located. Click "Save".

@ BIGTREE Geode 3D Viewer

BT CAUsers\Potter 2\Desktop\ 4 BENZ S ME st |

I\ e | |
Output thumbnail

@ BIGTREE Geode 3D Viewer - u} X
O EERHFEAUEEAREEHERE) X
g % P > tkEslx > SE > PIRSE v | O P ERmA
R E=- @
. ~ E&w B emEs 2w A
B EPoE EAESEREHIERT,
@ A360 Drive
B ux
B
o]
¥ T
> &R
o #E
& Windows (C) < >
SHEE(N): [ 2208 [ ~]
{E#ST(T): | Image Files *.bmp v
~ BT s | ms |
T ‘L:\b rs\Potter L RIINE R B ‘
I I s N SuEES |

53



E C:\Users\Potter £R\Desktop\t] A SENE®/NE st

[ s |

After the thumbnail has been outputted, click "OK".

2R L A
W dw mE EATIA
=3

o AR

LT
& Fm -
Bxw

R PR
BQU-nTEE
biqu 8178
mAE
[

@ Oncorve

- R

£ ELE

© 4360 Diive

Bws

= ms

B

s4%E

-

The thumbnail file of the model is required to be placed in the same

folder with the G-code file.The 3D printer will automatically recognize the
G-code file corresponding to the thumbnail.

Note: Save the G-code file in the root directory of TF card, and name
of G-code should be same as the thumbnail’s.

WWW.BIQU.EQUIPMENT 54



BeiQu®  BIQU-B1 USER MANUAL

Step 4 Choose from the touch screen homepage D “Menu” — @

“Settings” — @ “Feature” — @ “Page down” — & “Page down”
— ® “Files Viewer List Mode”

Ready eady % 2910 EE 2800
. TO| 2 Bed '?' FO o Fr.
—— v

X000 Y:0.00 Z:0.00 Heat/Fan Movement Extrude EM. STOP

© 1nfo
jj 1y &

M int 2 .
enu! prin Geode Custom Setting Back

Setting ® 29/0 X 28/0

Feature ® 29/0 A 28/0

>@< ‘ D D i Hide Terminal ACK [ ]

Ov

Screen  Machine | Feature Info

Invert X Axis

Invert Y Axis

=) 2, ;JpAe'ZE Invert Z Axis

. Auto Power
Disconnect 115200

Feature Feature ® 29/0 A 28/0

Filament sensor Files viewer List Mode

Move speed(X Y Z) Rotary Knob LED

Start Gcode before print LcDYBrtghtness

End Gcode after print LCD Brightness dim

Persistent Status Info LCD dim 3dle Eimer

When “Files Viewer List Mode” option turns red, it means that the
machine has opened the file browsing mode.

55



Step 5

Ready Print ® 29/0 &5 28/0

TO » . 4
. 2 Bed 2, FO Q!o Fr. T &
C:/ B D/

X-0.00 Y:0.00 Z:0.00 TFT SD Onboard SD U Disk

©1nfo
L
- é ’
&[]

Menu print

SD:
A

IEMIALS 42BN

< |2 &

Pageup Page down iR

Choose from the touch screen homepage “Print” — “TFTSD” , and
when selecting the slice file saved in the TF card, users will see the
interface of the print file has been changed. The outputted sliced files will
display thumbnail icons, while without outputted sliced files will not
display thumbnail icons. Users could select the slice file they want to print
at a glance.

WWW.BIQU.EQUIPMENT 56



BeiQu®  BIQU-B1 USER MANUAL

7-5 Marlin Operating System

BIQU-B1 has also equipped with a retro-style Marlin operating
system, users can choose their favorite operating system according to
their own preferences. Below is a brief description of the system.

Step 1 Long press the knob next to the touch screen, select "Marlin

Mode" on the left, then Marlin operating system will appear on the touch

screen.

uﬁggﬂ BIQU’

-\

Marlin mode Touch Mode

i " e
30° 20°
X 8y B 72 94.5
FR100% 16:32

—————1

3D Printer Ready.

57



Step 2 short press the knob, it will skip to the operation interface of

(@D (as shown below) And when the user turns the knob clockwise, the
option will move page down. Moving option to @”Print from Media”,
then short pressing the knob, it will skip to the operation interface of @
(as shown below). Moving down option to the file to be printed @
and short pressing the knob.

Note: In the Marlin system, turn the knob clockwise, the option will move

down. Turn the knob counterclockwise and the selection will move up.

Info Screen Motion

Motion Temperature
Tempgraturg Configuration
Configuration Change Media

Change Media Print from Media

CFFFP_Boat.gcode CFFFP_Boat.gcode
CFFFP_09.gcode CFFFP_89.gcode
CFFFP_vi.gcode CFFFP_vi.gcode

The printer nozzle and hot bed start to heat. After warming to the
target temperature, the machine will automatically reset to zero and then
start printing.

After printing is completed, the print head and hot bed will
automatically cool down. When the temperature of nozzle and hot bed

reach indoor temperature, users then can remove the model.

WWW.BIQU.EQUIPMENT 58



Beiqu’®  BIQU-B1 USER MANUAL

8. Troubleshooting

Question 1 R EIEE T d{oT

Printing too fast, please control the speed between 60 ~
Answer 1 | 80mm /s.

The bell pully or bell might be loosened. Tighten them
up.
The stepper motor is missing steps. The current through

the motor might be too small so that the stepper motor
doesn’t have enough torque. Increase the output
voltage from the stepper driver to increase the power of
the stepper motor.

The stepper, stepper driver and the power supply might
be overheated. Overheating might affect the
performance of steppers.

Question 2 RHIEINENAEELS

The nozzle is not tightened. Heat up the nozzle
and remove the filament before

tightening the nozzle with a plier. Do not touch
the heated nozzle with your hand!

Answer 2

59



Question 3 Difficult to install filament

Straighten the end of the filament with your
hand, and cut the very end of the

Answer 3 | filament to a 45 degrees angle with plier.

The screw on the extruder is too tight, slightly
loosen it.

Filament jam in the white filament tube, heat up
to 230 degree and remove the

jam filament.

T Ll Printting edge warping

The nozzle is far away from the platform, adjust the

distance between the platform and the nozzle-head.

Insufficient cooling is possible, make sure the fan
Answer 4 | is working.

Providing a closed environment in order to keep the
temperature stable.

Reducing the printing speed and allowing enough time

to adjust the temperature change.

The line width of the first layer is widened, that is, to
increase the extrusion amount of the bottom layer.

Adding Brim support.

WWW.BIQU.EQUIPMENT 60



Beiqu’®  BIQU-B1 USER MANUAL

(o[TT-13:[«J} 1M Bobbling on the top of the print

Answer 5 | Insufficient cooling is possible, make sure the fan
is working.

Top layer height is too thin, increase top layer
height in your print setting.

Question 6 Cracks and Gaps in 3D prints

Insufficient extrusion. Double check and see if
Answer 6 | there are any loosen parts in your
printer.

Make sure the diameter of your filament is
consistent.

Add some machine/motor oil on the rail to
ensure the print bed and extruder can
slide smoothly.

(o[IIN{l.}; WAl During the printing process, the extruder emits

the abnormal sound of "Kakaka"

Might be a nozzle jam, you could use needle tools to

unblock.

Answer 7 | The quality of the printed materials is not high, you can
try another material.

The print head temperature is too high, and the
material is carbonized into small black particles. Try to
lower the printing temperature.

The torque of the feeding part needs to be adjusted.

61



Question 8 WL HE A LS o]y

Check and see if the filament is jammed.
Answer 8 | Check and see if there is a nozzle jam.

Double check if you are using the correct layer height
and filament size setting.

You might be using low quality filament that would

often break.

Question 9 AUl

Adjust the retraction setting by 1Imm each time
and compare the result.

Change the retraction distance and retraction
Answer 9 | speed.Generally, the better range of the retraction
effect is 20 ~ 100mm / s. If you want to set the most
ideal value, you need to experiment to control
different speeds to see if the amount of wire is
reduced.

Try lowering the print temperature by 5 degrees
each time.

Lower the travel distance. Lower the distance
between each model if you are
printing multiple models a time.

WWW.BIQU.EQUIPMENT 62



Beiqu”  BIQU-B1 USER MANUAL

9. Cautions

1. To prevent scalds, please don’t touch the nozzle or the heated bed
when the printer is printing.

2. Please don’t touch the magnet bed immediately after a print is done,
wait for the hot plate to cool down before taking the print out.

3. Place the printer on top of a rigid body, otherwise, print quality might
be affected.

4. Don’t place your hand inside the printer, avoid getting slam or pinch
by the printer.

5. Don’t use the printer over 100 hours continuously, otherwise, the
machine might overheat and cause damage.

6. For safety, people under 18 must be supervised by adult when using
the printer.

7. Don’t place the printer near flammable substance. Place your printer
at a ventilated, clean and cool environment.

8. Follow the user manual carefully. Disassemble or modify your printer
without permission might cause damage to your printer, and the user will

be responsible for all the causes.

63






Shenzhen Bigtree Technology Co.,Ltd

Address: 2/FBuilding B,No.9 East Area,Shangxue Technology
Park, Longgang District,Shenzhen,Guangdong,China

Tel: +86 755 3313 3143 +86 137 9898 0050
Email:  support@biqu3d.com
WEB: www.BIQU.equipment



	1.Packing List
	2.Equipment parameters
	3.Installation equipment
	4.Platform Calibration
	4-1 Platform Calibration
	4-2 Fill in filament

	5.Ready to print
	5-1 Introduction to working mode
	5-2 Installing Driver software
	5-3 Install Ultimaker Cura Software
	5-4 Software Settings
	5-5 Usage of Ultimaker Cura Software

	6.Start Printing
	6-1 Offline printing
	6-2 Online Printing

	7.Other Functions
	7-1 Manual leveling
	7-2 Automatic Leveling（Optional）
	7-3 Intelligent filament detection Sensor Module 
	7-4 Model Preview
	7-5 Marlin Operating System

	8.Troubleshooting
	9.Cautions

